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Multiplication Strategies

eqgual groups

Find the product by making
equal groups.

To be more efficient, use
numbers instead of tally marks or

dots.
6xX7="?

01010
OO

6 groups of 7 =42, so
6X7=42

Skip Count

Find the product by skip
counting.

You can do this in your head or
on a number line.

b6xb="7
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| skip counted by 5s 6 times to
get 30.

6x5=30

repealed addilion

Find the product by
repeatedly adding the
second factor as many times
as the first factor tells you.

3x9=7°

9+\9+9+9+?/+94A-}+9:
18+ 18+ 18 + 18 =
N\ ~
36 + 36 = 72

8xXx9=72

uSe rejaled racls

Find the product of a
multiplication problem by
using the multiplication
problems you already know.

[ X8=7

| am going to decompose, or
break, the 7 into 5 and 2.

5x8=40
2X8=16

Then, | will add the two products
together to determine the total
product.

40 + 16 =56
7 X 8=56
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Division Strategies

eqgual groups

Find the quotient by making
equal groups.

To be more efficient, use
numbers instead of tally marks or

dots. 42 = 6 = ?

01010
OO

42 divided into 6 groups is 7
In each group, so 42 + 6 =7

Skip Count in
~EVEerse

Find the quotient by skip
counting backwards.

Start with your dividend, and
count back by your divisor to
zero. Count how many times it
takes to skip count backwards.

30+5=7
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30+5=6

repealed
Sublradclion

Find the quotient by repeatedly
subtracting the divisor from the
dividend. The quotient is how
many times it took to subtract.

36 +9=7

36 27 18 9
-9 -9 -9 -9
27 18 9 0

Since | was able to subtract
four nines, the quotient is

four. 36+9=4

use Mulliplicalion

Find the quotient by using
the related multiplication
problem.

566 +7=7
| need to think of a factor that
produces 56 when multiplied

by 7.

| know that 7 x 8 =56, so 56 + 8
IS 7

56 + 7 =8
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This resource was created by Jennifer Findley. It may be printed and
ohotocopied for single classroom use. It may not be put on the Internet, sold,

or distributed in any form. Check out my store for more resources that are
common core aligned.

Follow my blog for updates and freebies.

www.JenniferFindley.com

Thanks!
Jennifer Findley
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